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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 2nd Semester Examination, 2022 

CC3-SOCIOLOGY 

INTRODUCTION TO SOCIOLOGY-II 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A  

 Answer any two questions from the following  12×2 = 24 

1. Discuss Durkheim’s theory of ‘division of labour’. 12 

   

2. Critically analyze the major arguments of ‘liberal feminism’. 12 

   

3. Discuss the ‘social theory of evolution’ as stated by L.H. Morgan. 12 

   

4. Write in brief the theory of ‘Clan and class struggle’ by Karl Marx. 12 

   

 GROUP-B  

 Answer any four questions from the following  6×4 = 24 

5. Write a note on Merton’s theory of ‘functionalism’. 6 

   

6. Analyse the ‘functional theory’ of Malinowski. 6 

   

7. Briefly explain Weber’s typology of ‘social action’. 6 

   

8. Discuss the ‘Marxian theory of feminism’. 6 

   

9. Explain Comte’s theory of ‘law of three stages’. 6 

   

10. Write a short note on ‘Conflict theory of Dahrendorf’. 6 

   

 GROUP-C  

11. Explain / Define any four from the following:  3×4 = 12 

(a) Altruistic suicide  

(b) Traditional authority   

(c) Radical feminism  

(d) Positivism   

(e) Savagery  

(f) Positive function by Coser.  

 ——×——  
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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 2nd Semester Examination, 2022  

DSC1/2-P2-SOCIOLOGY 

SOCIOLOGY OF INDIA 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A / িবভাগ-ক / [k.M-d 

 Answer any two questions from the following  12×2 = 24
 fuEufyf[kr esa ls fdUgha nks iz”uksa ds mÙkj nhft, 

 িনmিলিখত েয-েকান dিট  pেűর উtর দাও 

 rydk dquS nqbZoVk Ikz”udk mÙkj ys[uqgksl~ 

1. Discuss the distinctive features of plural society in India. 12
 Hkkjrh; cgqyrkoknh lekt ds eq[; oSf”k’VÓ ij fopkj dhft,A 

 ভারেত বhtবাদী সমােজর sতnt �বিশŶয্gিল আেলাচনা কর।
 Hkkjrh; lektek cgqyrkdks fof”k’V fo”ks’krkg:dks ckjs ppkZ xuZqgksl~A 
  

2. Define Caste. Discuss the distinctive features of caste in Indian society. 4+8=12
 *tkfr* dh ifjHkk’kk nhft,A Hkkjrh; lekt ds varxZr tkfr iz.kkyh dh eq[; 

fo”ks’krkvksa ij izdk”k Mkfy,A 

 জািতর সংjা দাও। ভারতীয় সমাজবয্বsায় জািতর sতnt �বিশŶয্gিল আেলাচনা কর।
 Tkkfrdks ifjHkk’kk fnuqgksl~A Hkkjrh; lekTkek tkfr Ikz.kkyhdks eq[; fo”ks’krkg:dks ppkZ 
xuZqgksl~A 

  
3. Define family. Discuss the forms of family with diagrams. 4+8=12

 *ifjokj* ls vki D;k le>rs gSa \ ifjokj ds fofHkUu izdkjksa dks js[kkfp= dh lgk;rk ls 

le>kb;sA 
 পিরবােরর সংjা দাও। িচtসহকাের পিরবােরর িবিভn ধরনgিল আেলাচনা কর।
 ifjokjdks ifjHkk’kk fnuqgksl~~A ifjokjdks fofHkUUk fdfledks vfLrRo js[kkfp= lfgr 

ys[uqgksl~A  
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4. What is communalism? Discuss the causes behind the rise of communalism in 
India. 

4+8=12

 *lkaiznkf;drkokn* D;k gS \ Hkkjr esa lkaiznkf;drkokn ds mn; ds dkj.kksa ij fopkj dhft,A

 সাmpদািয়কতার সংjা দাও। ভারেত সাmpদািয়কতার kমবৃিdর কারণgিল আেলাচনা কর। 
 LkkaIkznkf;drk Hkusdks ds gks\ Hkkjrek LkkaIkznkf;drkdks mn;a dks dkj.k ds gqu ppkZ 

xuZqgksl~A 
  

 GROUP-B / িবভাগ-খ / [k.M-[k 

 Answer any four questions from the following  6×4 = 24
 fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj nhft, 

 িনmিলিখত েয-েকান চারিট  pেűর উtর দাও 
 rydk dquS pkjoVk Ikz”udk mÙkj ys[uqgksl~ 

5. Discuss the factors that contribute to unity of Indian society.  6
 Hkkjrh; lekt esa fufgr ,drk ds dkjd rRoksa ij fopkj dhft,A 
 ভারতীয় সমােজর ঐেকয্র কারণgিল আেলাচনা কর। 

 Hkkjrh; lektdks ,drkek ;ksXknku XkusZ dkjdg:dks ckjsek ppkZ xuZqgksl~A 
  

6. Discuss the changes that are taking place in the institution of marriage in India in 
recent times. 

6

 rRdkyhu le; esa Hkkjr esa fookg laLFkk esa vk, ifjorZuksa dh ppkZ dhft,A 
 সাmpিতককােল িববাহ pিতŸােন �য পিরবত�ন সংঘিটত হেc তা আেলাচনা কর।
 gkydks le;ek Hkkjrek fookg laLFkkek Hkbjgsdks ifjorZug:ckjs NyQy xuZqgksl~A   
  

7. Define tribe. Discuss the characteristics of Indian tribe. 2+4=6
 *tutkfr* dh ifjHkk’kk nhft,A Hkkjrh; tutkfr dh eq[; fo”ks’krk,¡ crkb,A 
 আিদবাসীর সংjা দাও। ভারতীয় আিদবাসীেদর �বিশŶয্gিল আেলাচনা কর। 
 tutkfrdks ifjHkk’kk fnuqgksl~A Hkkjrh; tutkfrdks fo”ks’krkg#dks ppkZ xuZqgksl~A  
  

8. Explain how secularism is perceived in India. 6
 Hkkjr esa /keZfujis{krkokn dks fdl :i esa ns[kk x;k \ le>kb,A 
 ভারেত ধম�িনরেপkতাবাদ িকভােব অনুɛত হয় তা বয্াখয্া কর।
 Hkkjrek /keZfujis{krkykbZ dljh cqfÖkUN Hkusj O;k[;k xuZqgksl~A 

  
9. Discuss how joint family is undergoing changes. 6

 la;qDr ifjokj esa vk jgs cnykoksa dh ppkZ dhft,A 
 �যৗথ পিরবার িকভােব পিরবিত�ত হেc তা আেলাচনা কর।
 la;qDr ifjokj dljh ifjorZu gq¡nSN Hkusj NyQy xuZqgksl~A 
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10. Discuss the forms of marriage found in India. 6

 Hkkjr esa fookg ds fofHkUu izdkjksa ij ppkZ dhft,A 

 ভারেত িববােহর �যসব pকারেভদ পিরলিkত হয় তা আেলাচনা কর।
 Hkkjrek ikbus fookgdks :ig:dks ckjsek ppkZ xuZqgksl~A 

  

 GROUP-C / িবভাগ-গ / [k.M-x 

11. Define/Explain any four questions of the following: 3×4 = 12
 fuEufyf[kr esa ls fdUgha pkj ij fVIi.kh fyf[k,% 
 িনmিলিখত �য-�কান চারিট  িবষেয়র বয্াখয্া/সংjা দাওঃ 
 ifjHkkf’kr / O;k[;k xuqZgksl~ dquS pkj % 

(a) Religious diversity 
 /kkfeZd fofo/krk 

 ধম�ীয় �বিচtয্  
 /kkfeZd fofo/krk 

(b) Caste hierarchy 
 tkrh; inkuqØe 
 জািত অিধkম 
 Tkkrh; inkuqØe 

(c) Nomadic tribe 
 ;k;koj vkfnoklh 
 যাযাবর আিদবাসী 
 ?kqeUrs tutkfr 

(d) Civil society 

 Ukkxfjd lekt 

 নাগিরক সমাজ 
 Ukkxfjd lekt 

(e) Caste endogamy 
 vUrtkZrh; fookg 
 অnঃিববাহকারী জািত 
 Tkkrh; vUrjfookg 

(f) Pastoral tribe. 

 nsgkrh tutkfrA 

 পǖপালক আিদবাসী। 
 IkkLVjy tutkfrA  

 ——×—— 
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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 2nd Semester Examination, 2022 

GE1-P2-SOCIOLOGY 

POPULATION AND SOCIETY 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A  

 Answer any two questions from the following 12×2 = 24 

1. Define demography. Discuss the subject matter of demography. 4+8 = 12 

   

2. Critically examine the Malthusian theory of population. 12 

   

3. Define mortality. Discuss the causes of high mortality in rural India. 4+8 = 12 

   

4. Assess the causes and consequences of population growth in India. 12 

   

 GROUP-B  

 Answer any four questions from the following 6×4 = 24 

5. Discuss how demographic change can trigger social change.  6 

   

6. Discuss in brief the Marxian theory of population. 6 

   

7. Trace the relation between education and fertility. 6 

   

8. Explain optimum theory of population. 6 

   

9. What are the main objectives of family planning as a part of population policy? 6 

   

10. What measures do you suggest to control the rapid growth of population? 6 

   

 GROUP-C  

11. Define or explain any four of the following: 3×4 = 12 

(a) Life expectancy   

(b) Migration   

(c) Crude Birth Rate   

(d) Sex Ratio  

(e) Fecundity   

(f) Neo-Natal mortality.  

 ——×——  

 


